TRXFRIZY FER¥—E

ENEHBESE
48 (8:30~12:00) &# (12:00~17:00) &M (17:00~22:00) 3AME/ v
EAREAE SEEE | ABME | HER & it EAREAE AEEE | KBME | HER & &t EAREAE ABEEE | ABME | HER & &t TRIFAR—R
HRLHE £H| 4,000 [ 1,000 500 5,500 HESE £H| 8,000 [ 2,000 1,000 | 11,000 HEXH £H| 10,000 [ 2,500 1,250 | 13,750 AR 54,000
AN—R <H| 4,000 | 1,000 400 540 5,940 AN—R <B8| 8,000 | 2,000 800 1,080 | 11,880 AN—R t<H8| 10,000| 2,500 | 1,000 | 1,350 | 14,850 T AEEZ| 13,500
. 8| 2,000 500 250 2,750 . 8| 3,000 750 370 4,120 . *FA| 3,600 900 450 4,950 E) KBEME —
FrIl)— FrI)— FrI)— &
#Aa| 2,000 500 200 270 2,970 #Aa| 3,000 750 300 400 4,450 #Aa| 3,600 900 360 480 5,340 SHER 6,750
8| 2,600 650 320 3,570 8| 3,800 950 470 5,220 £H| 4,600 [ 1,150 570 6,320 &5t 74,250
HEEE HEEE HEEE
#Aa| 2,600 650 260 350 3,860 #Aa| 3,800 950 380 510 5,640 B[ 4,600 | 1,150 460 620 6,830 AR 54,000
EH| 800 200 100 1,100 8| 1,200 300 150 1,650 ) *F8| 1,600 400 200 2,200 . AEEZ| 13,500
L= £HE3-1 K3 o
kB[ 800 200 80 100 1,180 #E[ 1,200 300 120 160 1,780 B[ 1,600 400 160 210 2,370 & KBEME| 5400
C
*8| 1,600 400 200 2,200 *FA8| 2,400 600 300 3,300 . EH| 2,800 700 350 3,850 SHER 7,290
LB K32 £HEI-2
B[ 1,600 400 160 210 2,370 B[ 2,400 600 240 320 3,560 B[ 2,800 700 280 370 4,150 &&t 80,190
. *8| 1,400 350 170 1,920 . *F8| 2,200 550 270 3,020 ) *FAB| 2,600 650 320 3,570
£H=3-3 £HE3-3 L8533
B[ 1,400 350 140 180 2,070 B[ 2,200 550 220 290 3,260 B[ 2,600 650 260 350 3,860
ZFRT+HF#  (8:30~17:00) i+ (12:00~22:00) £H (8:30~22:00) AR/ v
EARFEAN SEEE | ABME | HER & &t BEAREAY SEEE | ABNE | HER & &t ERERE AEEE | ABME | HER & &t Fy3)—
HEXH 8| 12,000 | 3,000 1,500 | 16,500 HEXH 8| 16,000 | 4,000 2,000 | 22,000 HRLE 8| 20,000 | 5,000 2,500 | 27,500 ERR 20,000
AN—R 8| 12,000 3,000 | 1,200 | 1,620 | 17,820 AN—R 8| 16,000 | 4,000 | 1,600 | 2,160 | 23,760 AN=R #<8| 20,000 | 5,000 | 2,000 | 2,700 | 29,700 = AEEEZE| 5,000
i 8| 4,400 | 1,100 550 | 6,050 X F8| 5800 | 1,450 720 | 7,970 o 8| 7,600 | 1,900 950 | 10,450 5', hEmE —
Fr3— Fr3— Fr3— A
*8| 4,400 | 1,100 440 590 6,530 8| 5,800 | 1,450 580 780 8,610 8| 7,600 | 1,900 760 1,020 | 11,280 HER 2,500
8| 5,600 | 1,400 700 7,700 8| 7,200 | 1,800 900 9,900 8| 9,600 | 2,400 1,200 | 13,200 &&t 27,500
By HpEE=E HpEE=E
8| 5,600 | 1,400 560 750 8,310 8| 7,200 | 1,800 720 970 | 10,690 8| 9,600 | 2,400 960 1,290 | 14,250 ERR 20,000
) =8| 1,600 400 200 2,200 ) 8| 2,400 600 300 3,300 . 8| 3,000 750 370 4120 * AEEZE| 5,000
£H=3-1 £H=3-1 L= E
#Aa| 1,600 400 160 210 2,370 #*®B| 2,400 600 240 320 3,560 #B| 3,000 750 300 400 4,450 = KBEME| 2,000
C
) =8| 3,400 850 420 4670 ) FA| 4,400 | 1,100 550 6,050 . 8| 5,800 | 1,450 720 7,970 HER 2,700
£H=3-2 £H=3-2 LB
B[ 3,400 850 340 450 5,040 8| 4,400 | 1,100 440 590 6,530 8| 5,800 | 1,450 580 780 8,610 &&t 29,700
) 8| 3,000 750 370 4120 ) FA| 4,200 | 1,050 520 5,770 . 8| 5400 | 1,350 670 7,420
£8=3-3 £8=3-3 £H=3-3
B[ 3,000 750 300 400 4,450 8| 4,200 | 1,050 420 560 6,230 8| 5,400 | 1,350 540 720 8,010
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